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Q.1 Based on the given venn diagram, which of the following statement(s) is/are
correct?
I. The number of walls which are not poem is 46.
Il. The number of poems which are not poet is 71.

Poct

Poem

46

Ans X A Onlyll
X B.QOnly !

&” C. Neither | nor |l
X D.Bothlandll
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Q.2 Which figure is similar to the given figures?

Ans

X A

XD

eleleln

Question ID : 1034357601

Q.3 Inthefollowing question, a group of letters is given. The letters of each group are
related with the letters of the same group by some Logic/Rule/Relation. From the
given alternatives, select a group of letters which follows the same
Logic/Rule/Relation.

(BQ, VW, PC)

Ans ¢ A (ER YV, SB)
X B.(ZF, TLNT)
X C.(LD, FJ, AP)
X D (MG, GM, BS)

Question ID : 1034357588

Q.4 Inacertain code language, 'SLOWERS' is written as 'VUHZROV'. What is the code for
‘NATURAL in that code language?

Ans X A ODUXXDQ
o B. ODUXWDQ
X C. ODUYWDQ
X D.0DUYXDQ

Question ID : 1034357589

Q.5 Arrange the given words in the sequence in which they occur in the dictionary.
1. Kaiser
2. Kasakas
3. Kahalas
4. Kakapos
5. Kababs

Ans X A 53241
X B 52347
X C.53214

Question ID : 1034357584
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Q.6 If Northbecomes North-west and South-east becomes east, then, what will West
become?

Ans o A South-west
X B. North-east
X C.East

X D. South
Question ID : 1034357599

Q.7 Inthe following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I.SomeDareR.
II.NoRisP.
Conclusions:
|.Some D are not P.
Il. Some P are not D.

Ans X A Only conclusion Il follows
o b nly clusic follows
X C.Both conclusion | and Il follows

XX D. Neither conclusion follows
Question ID : 1034357593

Q.8 Inthe following question, select the number which can be placed at the sign of
question mark (?) from the given alternatives.

21416
31517

13141 ] 7

Ans X A 85
X B.91
X C.81
& D. 85

Question ID : 1034357595

Q.9 Rohit walks 40 metre. He turns to the left and walks 30 metre. He turns to the right
and walks 35 metre. He again turns to the right and walks 60 metre. Finally, he turns
to the right and walks 115 metre. Which of the following statement is correct?

I. The distance between starting point and finishing point is 40 metre.
Il. If now Rohit is facing towards the east, then he would have started walking
towards the west.

Ans X A Onlyl

o B.Onlyll
< C Neither | nor Il

X D Bothiandll

Question ID : 1034357600
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Q.10 Inthe following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:

I.Some A are B.

Il. AllB are C.

I1l. No Ais D.
Conclusions:
|.SomeBareC.

Il. Some B are not D.
Ill. Some D are not C.

Ans X A Both conclusion | and Il follows
X B. Both conclusion Iland Il follows

X C. All conclusion follows

o D. Both conclusion | and Il follow

Question ID : 1034357594

Q.11 Ateam of sixmembers is to be selected among nine members M1, M2, M3, M4, M5,
M6, M7, M8 and M9. M3 and M7 have to be selected together. M4 and M8 cannot be
selected together. Either M2 or M5 has to be selected with M7. Neither M1 nor M6
can be selected with M9. Which of the following members can be selected?

Ans X A M2 M3, M5 M6, M8, M9
X B. M1, M3, M5, M6, M7, M9
X C.M1, M2, M4, M5, M6, M8

DM

M2, M3 M4, M¢

Question ID : 1034357591

Q.12 How many triangles are there in the given figure?

Ans A8
X B.9
Xie7
X D10

Question ID : 1034357602

Q.13 Inthe following question, select the related letters from the given alternatives.
NC:PD:PR:?

Ans ¢ A RS
X B.RQ
X c.aQr
X D.QS

Question ID : 1034357587
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Q.14 Five boys A, B, C, D and E eat five different types of food F1,F2, F3, F4 and F5 (not
necessarily in the same order). Each also likes a different bird namely B1, B2, B3, B4
and B5 (not necessarily in the same order). B eats F2. Adoes not like B3. E eats F1,
but he does not like B1 or B2. C does not eat F4, but he likes BS. The one who eats
F3, likes B3. B does not like B2. Which of the following statements are correct?

I. Alikes B2.
Il. C eats F5.
I1l. E likes B4.

Ans Al lland|
X B land |l
X C.lland Il
X D landll

Question ID : 1034357592

Q.15 Aseries is given with one term wrong. Select that wrong term from the given
alternatives.
DSL, WNR, PIX, IDC, BYJ, UTP

Ans X A UTP
X B.BYJ
¢ C.IDC
X D. PIX

Question ID : 1034357585

Q.16 T awiR # Ueh Q& hY 3R Hehal FHed g Htar 3 &g, “ag /< A1 7 geheltar WS 271 a7
gy, e & for uepR weifda €2

Ans X A foar
X B
& C. T
X D.g3

Question ID : 1034357590

Q.17 fam=ferf@a us A fag g et & & foww 2z Y gfagi
Ans X A 9O

X B fouae
X C firfie

v 0.
Question ID : 1034357586

Q.18 Two adjacent faces of a solid cube are painted with black colour. The faces
opposite to the black faces is painted with blue colour while the remaining faces are
painted with yellow colour. After painting, this cube has been divided into 125 equal
cubes. How many cubes have no faces painted?

Ans X A 8
X B.35

7
X D.24

Question ID: 1034357603
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Q.19 How many cars are scooter, but not bus?

Scooter

—Bus

Q.20 Aseries is given with one term wrong. Select that wrong term from the given
alternatives.
132, 67, 68,103, 207, 518

Ans X A 132
& B.518
X C.207
X D67

GET IT ON

Google Play

Question ID : 1034357597

Question ID : 1034357596

Q.1 Gautamiputra Shri Satakarni was the ruler of the
Ans X A Cholas

dynasty.

X B.Cheras
X C.Pandayas

v;? D. Satavaha

Q.2 Which of the following statement is correct?
I. Parliament has the power to regulate the right of citizenship in India.
Il. Fundamental rights are mentioned in part Il of Indian constitution.

Ans X A.Onlyll
X B. Neither [nor Il
o C.Both land |l
X D.Only|

Question ID : 1034357615

Question ID : 1034357621
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Q.3 Which of the following is NOT a Kharif crop?
Ans X A Maize

X B. Jowar
o” C. Barley
X D.Bajra

Question ID : 1034357612

Q.4 In 2021 how many persons have been awarded with Padma Shri?

Ans 2 A 102

Question ID: 1034357619

Q.5 Which country will host the 2023 ICC Men's Cricket World Cup?
Ans X A. South Africa

X B.Srilanka

« C. India
X D. Australia

Question ID : 1034357622

Q.6 Article 5to 11 of the Indian constitution deal with
Ans X A Fundamental rights

X B. Fundamental duties

< C. Union executive

v D. Citizenship

Question 1D : 1034357620

Q.7 The motion of the moon around the earthis due to the

Ans X A Gravitational force
+ B. Centripeta
X C. Friction force

/¥ D. Centrifugal force

Question ID : 1034357608

Q.8 Who started the newspaper Kesari?
Ans X A Lala Lajpat Rai

X B. Mahatma Gandhi
/X C.Bipin Chandra Pal

 D. Balgangadhar Tilak

Question ID : 1034357614
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Q.9 Which pair of sports - Number of players is correct?
|.Polo - 4
Il. Rughy - 11

Ans X A Neither Inor |l
& B Only
X C.onlyll
X D.Bothlandll

Q.10 The new Rs. 20 denomination bank note in the Mahatma Gandhi (new) series has a
motif of

Ans X A RanikiVav
« B. Ellore caves
X C Mangalayan

X D Red fort

Q.11 Who has been appointed as new health minister of India in July 2021?
Ans o A Mansukh Mandaviya

X B. Ashwini Vaishnav

/X C. Shri Arjun Munda

X D. Dr. Harshvardhan

Q.12 Which pair of dynasty - related place is correct?
I. Cholas - Uraiyur
I1. Pallava - Kanchipuram

Ans X A Neither [ nor |
X B.Onlyl
« C.Both land i
X D.Onlyll

Q.13 pH of aneutral solutionis
Ans X A.2

X B9
v
X D.10
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Question ID : 1034357623

Question D : 1034357607

Question ID : 1034357618

Question ID : 1034357616

Question ID : 1034357609
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Q.14 Who is the author of book “A Promised Land"?
Ans X A Imran Khan

«” B.Barack Obama
X C.Shinzo Abe
X D. Narendra Modi

Question ID : 1034357617

Q.15 Which of the following state does not share its boundary with China?
Ans X A Himachal Pradesh

X B. Uttarakhand
 C. West Bengal

X D. Arunachal Pradesh

Question ID : 1034357611

Q.16 Which of the following statement is correct?
I. The part of the Himalayas lying between Satluj and Kali rivers is known as Kumaun
Himalayas.
II. The outer most range of the Himalayas is called lesser Himalaya.

Ans X A Onlyll
X B.Bothlandll
«” C. Only
X D. Neither Inor |l

Question ID : 1034357613

Q.17 Which of the following is an example of indirect tax?
Ans X A Estateduty

X B. Wealth tax
X C. Gift tax

o D. Excise tax

Question ID : 1034357606

Q.18 Which of the following pair is correct?
I. Gymnosperms - Bear seeds inside fruits
Il. Angiosperms - Bear naked seeds

Ans ¢ A Neither (nor |
Z< B.Only Il
/< C.Cnly!|
X D.Bothlandll

Question ID : 1034357610
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Q.19 The Hill Palace Museum is situated in which state of India?
Ans X A Karnataka

/X B.Maharashtra

o C. Kera
X D. Tamil Nadu

Question ID : 1034357605

Q.20 ‘Shigmotsav' festival is celebrated in which state of India?
Ans X A Rajasthan

W B.G
X C. Tamil Nadu

X D. Uttar Pradesh

Question ID : 1034357604

Q.1 Side of arhombus is 26 cm. Length of one of its diagonal is 20 cm. Sum of the
length of diagonals of this rhombus is equal to the perimeter of arectangle. If the
difference between length and breadth of rectangle is 6 cm, then what is the area of
rectangle?

Ans X A 320cm?
X B.340 cm?
X C.360 om?

 D.280cm*

Question ID : 1034357640

Q.2 Acompanyretains 80 percent of its total profit and divides rest of the profit among
its 21 employees. The ratio of the number of senior employees to the number of
junior employees is 4:3. The profit share of each senior employee and each junior
employee is in the ratio of 4:1 respectively. If each junior employee gets Rs. 2200 as
his share of profit, then what is the total profit of the company?

Ans ¢ A Rs. 627000
X B.Rs. 636000
/X< C.Rs. 644000
X D.Rs. 752000

Question ID : 1034357634
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Q.3 , . .
(0.56)"+(0.66)" +(0.0076)"

(0.056)" +(0.066)" +(0.00076)"

What is the value of

Ans A
X B.1/10
Xc
X D.100

Question ID : 1034357626

Q.4 What is thevalueof 48+ 3x5-6x3+ 5?

X B.62
X C.52

X D.53

Question D : 1034357624

Q.5 The average age of 13 students of a class is 16 years. If a new student of age 30
years joins the class, then what will be the average age of these 14 students?

Ans o A. 17 years
< B. 19 years
X C.22years

X D. 21 years

Question ID : 1034357629

Q.6 & &1 &1 Jed 50 ufarra ufa adf i g7 & &0 ghar 81 af wer adwra gea 75000 $ud g, at
3 atf gd 1R T ged T UT1?
Ans X A.300000 sud
& B. 600000 0@
X C.750000 ¥ud
X D. 450000 ud

Question ID : 1034357631

Q.7 If speed of boat in still water is 18 km/hr and the speed of stream is 8 km/hr, then
what is the upstream and downstream speed of the boat respectively?

Ans X A.12km/hr, 24 km/hr

 B.10km/hr, 26 km/h
X C.26 km/hr, 10 km/hr
X D.16 km/hr, 32 km/hr

Question ID : 1034357636
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Q.8 The line chart given below shows the number of cars sold by 7 different companies.

700
600
A 5
o \ F 650
400 - 550 \ /
. \
\ /
300 ¢
200
P Q R S T U V

The number of cars sold by P is how much percent more than the number of cars
soldbyT?

Ans v A. 100 percent
X B. 150 percent
X C. 50 percent

X D. 10 percent

Question ID : 1034357642

Q.9 Pipe J canfill atank in 48 hours and Pipe K can fill the same tank in 72 hours. If both
the pipes are opened on alternate hours one at a time and pipe K is opened for first
hour, then in how much time will the tank be completely full?

Ans X A.57(1/3) hours

« B.57(2/3) hours
X C.59(2/9) hours

X D. 58 hours

Question ID: 1034357638

Q.10 Aperson buys three helmets at the rate of Rs. 2000 per helmet. He sells first
helmet at a profit of 60 percent, sells second helmet at a loss of 20 percent and
sells third helmet at a loss of 30 percent. What is the total percentage of profit
earned in the whole transaction?

Ans X A 20 percent
v E 33 percent
25 C. 10 percent
X D. 15 percent

Question ID : 1034357632
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Q.11

If .f16+6\/‘: :.\[.\T+\;"; ,then what is the value of x + y?

Ans X A 20
X B.10
v C.16
X D18

Question ID : 1034357627

Q.12 Three partners P, Q and R share profit such that 2 times of the P's share is equal to
3times of the Q's share and equal to 6 times of the R's share. What is the ratio of
the profits of P, Q and Rrespectively?

Ans X A2:1:3

SB.152:8
o C3:2:7
N D.3:2:4

Question ID : 1034357633

Q.13 The pie chart given below shows the marks obtained by a student in 8 different
subjects. The total marks obtained by the student is 600. Marks obtained in a

particular subject is shown as a percent of total marks obtained in all these 8
subjects.

4%

Which of the following statement is correct?

I. The ratio of marks obtained in subject D to the marks obtained in subject Eis 1:
6

Il. The average of marks obtained in subject A, B, C and H are 41.
Ill. The central angle formed by sectors F and G together are 86.4 degree.

Ans X A.llandlll

X B landll
X C.llland Il
oL

Question ID : 1034357641
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Q.14 If anumber 987X8 is exactly divisible by 8, then what is the value of X?
Ans X A 4
X B.O

v C2
X D5

Question ID : 1034357625

Q.15 Surajstarts his journey from point Q at 1 p.m. He drives the car at the speed of 50
km/hr for first three hours and complete the remaining journey at the speed of 20
km/hr. If Rahul starts moving towards Surajat 6 p.m. from point Q at the speed of
60 km/hr, then at what time will he catch Suraj?

Ans X A 9:30pm
¢ B.10:45pm
< C.9:00 pm

X D 11:15pm

Question ID : 1034357637

Q.16 On compound interest (compounding annually) a certain sum becomes 3 times of
itself in 4 years. In how many years will it become 9 times of itself?

Ans X A.12years
v B. 8 years
X C.16 years

/< D. 10 years
Question ID : 1034357635

Q.17 Total surface area of a hemisphere is 1848 cm?. What is the radius of this
hemisphere?

Ans X A 28cm
X B.35cm
v 4 14 cn
X D.21cm

Question ID : 1034357639



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eonle Play

Q.18 The bar graph given below shows the cost price and selling price of 6 articles.

1200 1200 1200

1000
900

800 300 300

600

400

200

Al A2 A3 Ad AS A6
Cost price O Selling price

Profit = Selling price - Cost price

P1=The average value of profit of all 6 articles.

P2 =The difference between total cost price and total selling price of all 6 articles.
What is the value of (P2/P1)?

Ans X A3
¥ B.6
X C4
X D2

Question ID : 1034357643

Q.19 ’ - . 5 2 N
What is the digit at the unit place 28% . 26% . 94°%?

Ans X A 4
X B.8
' C.6
X D9

Question ID : 1034357628

Q.20 Inaclass, 40 percent are boys and the number of girls are 54. What is the number of
boys in the class?

Ans X A 37
X B.34
‘J‘— 1§
X D.33

Question ID : 1034357630
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Q.1 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans o A Picturesque
X B. Pictureasque
X C. Picturesck

X D. Pictureske

Question ID : 1034357655

Q.2 Rearrange the parts of the sentence in correct order.
When grandfather first
P: Showed me the pond world
Q: Sat for an hour lazily
R:He chose a dryplace in the shade of
S:Anold peepul tree where we

Ans X A.PQRS
X B.QRSP
X C.RQPS

¥ 0. PRSQ

Question ID : 1034357650

Q.3 Rearrange the parts of the sentence in correct order.
P:Forinstance, they can provide information to prevent traffic jams.
Q: Theycan also solve the most complex mathematical problems.
S:Computers are capable of doing extremely complicated works.
R: These machines can be put to varied uses in daily life as well scientific
researches.

Ans ¢ A SRPQ
X B.QRSP
X C.SQRP

X D.RQSP

Question ID : 1034357651

Q.4 Choose the word that means the same as the given word.
Waver

Ans X A Voucher
X B. Waiver
X C.Vaccinate

« D. Vacillate

Question ID : 1034357652



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

Q.5 Inthefollowing question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
High and mighty

Ans ¢ A Arrogant
X B. Prominent
/X C. Admiring
X D. Respectful

Question ID : 1034357656

Q.6 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your
answer.

Satish, could you beaten the bear?

Ans X A Noimprovement
V’? B wld ye
/X C.had you beat

X D. could you have beating

Question D : 1034357646

Q.7 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your
answer.

You would had been prepared for the exam.

Ans X A Noimprovement
X B. would have been preparing to
«” C. would have been prepared for

X D. would had prepared for

Question ID : 1034357647

Q.8 Choose the word that is opposite in meaning to the given word.
Acrimonious

Ans X A Morbid
+ B.Gentle
X C.Slavish
X D. Mordant

Question ID : 1034357653

Q.9 Inthefollowing question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To put heads together

Ans X A Todestroy the work
X B.Toshare the responsibilities

X C.Toputno effort

o’ . Toconsult togethe

Question ID : 1034357657
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Q.10 Find the part of the given sentence that has an error init. If thereis no error,
choose ‘No error’.
Educational platforms can be a productive way (1)/for parents to use technology
(2)/to support there child's early learning (3)/.No error (4)

Ans X A1
X B2
¥ C.:
XD.a

Question ID : 1034357645

Q.11 Choose the word that can substitute the given sentence.
One that is in a war-like mood

Ans ¢ A Belligerent
X B. Conference
X C.Bereavement

X D. Resilient

Question ID : 1034357658

Q.12 Find the part of the given sentence that has an errorinit. If there is no error,
choose ‘No error’.
Iam too glad to(1)/ meet you after (2)/ so many days (3)/.No error (4)

Ans X A3
X B.2
v
XD

SN

Question ID : 1034357644

Q.13 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
Jane gets pretty when she is drunk.

Ans X A.innate
X B.sulk
o C.viciou
X D.glowing

Question ID : 1034357648

Q.14 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X A Harmonus
X B.Harmonous

o C.Harmenious
/X D.Harmonyus

Question ID : 1034357654
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Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
Bread and butter my favourite snack for the breakfast.

Ans X A make
X B.were

o C.is
X D are

Question ID : 1034357649

Caomprehension:

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed,
hypnosis has been used as a method in all three. Its scientific history began in the latter
part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the
treatment of patients in Vienna and Paris. Because of his mistaken belief that hypnotism
made use of an occult force (which he termed “animal magnetism”) that flowed through the
hypnotist into the subject, Mesmer was soon discredited; but Mesmer's method—named
mesmerism after its creator—continued to interest medical practitioners. A number of
clinicians made use of it without fully understanding its nature until the middle of the 19th
century, when the English physician James Braid studied the phenomenon and coined the
terms hypnotism and hypnosis, after the Greek god of sleep, Hypnos. Hypnosis attracted
widespread scientific interest in the 1880s. Ambroise-Auguste Liebeault, an obscure French
country physician who used mesmeric techniques, drew the support of Hippolyte Bernheim,
a professor of medicine at Strasbourg. Independently they had written that hypnosis
involved no physical forces and no physiological processes but was a combination of
psychologically mediated responses to suggestions. During a visit to France at about the
same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of
hypnosis for neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics
recall disturbing events that they had apparently forgotten. As he began to develop his
system of psychoanalysis, however, theoretical considerations—as well as the difficulty he
encountered in hypnotizing some patients—led Freud to discard hypnosis in favour of free
association.

Despite Freud's influential adoption and then rejection of hypnosis, some use was made of
the technique in the psychoanalytic treatment of soldiers who had experienced combat
neuroses during World Wars | and II. Hypnosis subsequently acquired other limited uses in
medicine. Various researchers have put forth differing theories of what hypnosis is and how
it might be understood, but there is still no generally accepted explanatory theory for the
phenomenon.

SubQuestionNo : 16
Q.16 The passage mainly talks about:
Ans X A Hypnosisand its loopholes.

«” B. Thehistory and early research of hypnosis
X C.The present state of hypnosis

X D. Application of hypnosis.
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Comprehension:

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed,
hypnosis has been used as a method in all three. Its scientific history began in the latter
part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the
treatment of patients in Vienna and Paris. Because of his mistaken belief that hypnotism
made use of an occult force (which he termed “animal magnetism”) that flowed through the
hypnotistinto the subject, Mesmer was soon discredited; but Mesmer's method—named
mesmerism after its creator—continued to interest medical practitioners. A number of
clinicians made use of it without fully understanding its nature until the middle of the 19th
century, when the English physician James Braid studied the phenomenon and coined the
terms hypnotism and hypnosis, after the Greek god of sleep, Hypnos. Hypnosis attracted
widespread scientific interest in the 1880s. Ambroise-Auguste Liebeault, an obscure French
country physician who used mesmeric techniques, drew the support of Hippolyte Bernheim,
a professor of medicine at Strasbourg. Independently they had written that hypnosis
involved no physical forces and no physiological processes but was a combination of
psychologically mediated responses to suggestions. During a visit to France at about the
same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of
hypnosis for neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics
recall disturbing events that they had apparently forgotten. As he began to develop his
system of psychoanalysis, however, theoretical considerations—as well as the difficulty he
encountered in hypnotizing some patients—led Freud to discard hypnosis in favour of free
association.

Despite Freud's influential adoption and then rejection of hypnosis, some use was made of
the technigue in the psychoanalytic treatment of soldiers who had experienced combat
neuroses during World Wars | and II. Hypnosis subsequently acquired other limited uses in
medicine. Various researchers have put forth differing theories of what hypnosis is and how
it might be understood, but there is still no generally accepted explanatory theory for the
phenomenon.

SubQuestion No : 17

Q.17 According to the given passage, which of the following statements is incorrect?

Ans X A Thereis still no generally accepted explanatory theory for the phenomenon called
hypnosis.

/< B. Sigmund Freud used hypnosis to help neurotics recall disturbing events that they
had apparently forgotten.

o C. The scientific history of hypnosis began in the latter part of the 17th century

X D.Hypnosis subsequently acquired other limited uses in medicine
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Comprehension:

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed,
hypnosis has been used as a method in all three. Its scientific history began in the latter
part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the
treatment of patients in Vienna and Paris. Because of his mistaken belief that hypnotism
made use of an occult force (which he termed “animal magnetism”) that flowed through the
hypnotistinto the subject, Mesmer was soon discredited; but Mesmer's method—named
mesmerism after its creator—continued to interest medical practitioners. A number of
clinicians made use of it without fully understanding its nature until the middle of the 19th
century, when the English physician James Braid studied the phenomenon and coined the
terms hypnotism and hypnosis, after the Greek god of sleep, Hypnos. Hypnosis attracted
widespread scientific interest in the 1880s. Ambroise-Auguste Liebeault, an obscure French
country physician who used mesmeric techniques, drew the support of Hippolyte Bernheim,
a professor of medicine at Strasbourg. Independently they had written that hypnosis
involved no physical forces and no physiological processes but was a combination of
psychologically mediated responses to suggestions. During a visit to France at about the
same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of
hypnosis for neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics
recall disturbing events that they had apparently forgotten. As he began to develop his
system of psychoanalysis, however, theoretical considerations—as well as the difficulty he
encountered in hypnotizing some patients—led Freud to discard hypnosis in favour of free
association.

Despite Freud's influential adoption and then rejection of hypnosis, some use was made of
the technigue in the psychoanalytic treatment of soldiers who had experienced combat
neuroses during World Wars | and II. Hypnosis subsequently acquired other limited uses in
medicine. Various researchers have put forth differing theories of what hypnosis is and how
it might be understood, but there is still no generally accepted explanatory theory for the
phenomenon.

SubQuestion No : 18
Q.18 Who coined the term hypnotism after the Greek god of sleep?
Ans X A Hippolyte Bernheim

X B. Franz Mesmer
« C. James Braid

X D.Sigmund Freud
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Ans

Comprehension:

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed,
hypnosis has been used as a method in all three. Its scientific history began in the latter
part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the
treatment of patients in Vienna and Paris. Because of his mistaken belief that hypnotism
made use of an occult force (which he termed “animal magnetism”) that flowed through the
hypnotistinto the subject, Mesmer was soon discredited; but Mesmer's method—named
mesmerism after its creator—continued to interest medical practitioners. A number of
clinicians made use of it without fully understanding its nature until the middle of the 19th
century, when the English physician James Braid studied the phenomenon and coined the
terms hypnotism and hypnosis, after the Greek god of sleep, Hypnos. Hypnosis attracted
widespread scientific interest in the 1880s. Ambroise-Auguste Liébeault, an obscure French
country physician who used mesmeric techniques, drew the support of Hippolyte Bernheim,
a professor of medicine at Strasbourg. Independently they had written that hypnosis
involved no physical forces and no physiological processes but was a combination of
psychologically mediated responses to suggestions. During a visit to France at about the
same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of
hypnosis for neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics
recall disturbing events that they had apparently forgotten. As he began to develop his
system of psychoanalysis, however, theoretical considerations—as well as the difficulty he
encountered in hypnotizing some patients—led Freud to discard hypnosis in favour of free
association.

Despite Freud's influential adoption and then rejection of hypnosis, some use was made of
the technigue in the psychoanalytic treatment of soldiers who had experienced combat
neuroses during World Wars | and II. Hypnosis subsequently acquired other limited uses in
medicine. Various researchers have put forth differing theories of what hypnosis is and how
it might be understood, but there is still no generally accepted explanatory theory for the
phenomenon.

SubQuestion No : 19

Q.19 Which of the following pairs is/are correctly matched?

I. Franz Mesmer- German Physician
Il. Sigmund Freud- French Physician
I1l. Ambroise-Auguste Liébeault- Austrian Physician

X A.Onlyll
o B.0Only |
X C.lLlland
X D.lland Il
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Comprehension:

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed,
hypnosis has been used as a method in all three. Its scientific history began in the latter
part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the
treatment of patients in Vienna and Paris. Because of his mistaken belief that hypnotism
made use of an occult force (which he termed “animal magnetism”) that flowed through the
hypnotistinto the subject, Mesmer was soon discredited; but Mesmer's method—named
mesmerism after its creator—continued to interest medical practitioners. A number of
clinicians made use of it without fully understanding its nature until the middle of the 19th
century, when the English physician James Braid studied the phenomenon and coined the
terms hypnotism and hypnosis, after the Greek god of sleep, Hypnos. Hypnosis attracted
widespread scientific interest in the 1880s. Ambroise-Auguste Liebeault, an obscure French
country physician who used mesmeric techniques, drew the support of Hippolyte Bernheim,
a professor of medicine at Strasbourg. Independently they had written that hypnosis
involved no physical forces and no physiological processes but was a combination of
psychologically mediated responses to suggestions. During a visit to France at about the
same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of
hypnosis for neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics
recall disturbing events that they had apparently forgotten. As he began to develop his
system of psychoanalysis, however, theoretical considerations—as well as the difficulty he
encountered in hypnotizing some patients—led Freud to discard hypnosis in favour of free
association.

Despite Freud's influential adoption and then rejection of hypnosis, some use was made of
the technigue in the psychoanalytic treatment of soldiers who had experienced combat
neuroses during World Wars | and II. Hypnosis subsequently acquired other limited uses in
medicine. Various researchers have put forth differing theories of what hypnosis is and how
it might be understood, but there is still no generally accepted explanatory theory for the
phenomenon.

SubQuestion No : 20
Q.20 What is the synonym of the word- ‘impressed’ as used in the passage?
Ans X A. Concerned

« B Dazzled
/X C. Grieved
X D.Beguiled

Question ID : 1034357664
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Ans X A 2dH: 3@

X B g 2y
X C.¢ag: o

o D. B . Ioie

Q.5 feum ereg @1 waaT wrd Hifsg)
fReeTge
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Comprehension:

Tk TTEIST o T &1 TTEieT 3 SR UR Ui us U Y €)1 el &t e ug a7 Udid 0 & aR
et 7 @ @t faemen 741

et sffget fg=) @t ufafAf siaferes Summa & sik 34 arur 39 ey d ur: 3 9 RALhyand ferd g,
Y foreft oft srrarferes Iummra # uig Tt &1 sirafors IumaTy A ST ufkds forar S €, ag gw ok e
% oftae & fSra uer 8 Gond &, 37 erl & Siaa 2eR 8 Wand &, 3 T8 Sud @ faar & | faeme g
&1 frer aifae off 09 € e &l RO AT 81

Aol sifaet H 'TRNTST T1Ta 6 g qUT T ST 39 HeR U {1 7 § o ofad 8 Arad &
AT | 39 IUITH T 327 e hl AT bl TehTISId et ol &1 IaT &, Bleiich 3e2d a7 ufshar
Gl §HT &1 597 Sfal ! GrexdT a Gy g1 vl et fRsror fohan man €1 g9 shfaare, srmeRarme,
SGRATE! TSI, 731 3R srsml a1 urgs ot fezarn man &1 0] S A sifad av ofk ey gl
TR UR GaY 3T 1 398 Yk Y fRieq 7 areftor St o fergmar man g

Zgeh! gad ag! RLiyaT g8 & o e Aracs 1S et A8 8, it @1 e gr1 Sfut & gge A1 8
g v AT 4% ¢ O fdaras R geyfi w @ g9 3umm | 39 sfaa & HT s & sifdes §
et wg fehar T € ofR g8 w31 anefes § & ag agl & ot & gear-sirater, dfa-Rarer, od-
AR, THa-faar @t O griftverar & 91 UTae & 9 JUfed erat 8

oy o iRt g St wu H gaR g g, e agl & et o geft-atren, te-gom, derd-du,
o3, GATATGRBUII, FiaeH <9l N & R JAR-TGTd & W1 IR 74T &1 54 STl Uk 3R Aeveran
& fd xR & g 8, at 92 gt ok Afdendr & forg seueree ot &1 @y &) urem fayedt wmarstt &
i agl--angl Sftae & ufe gt e ot &)

SubQuestion No : 16
Q.16 " Afaet” IUATY &1 ATGeh i &7
Ans X A 7@

X839
X C. il & geza

o D. 3rFa
Question ID: 1034357681

Comprehension:

Ten eI T e &1 Terier & TuR UR e uH iy g g el i egd e e a1 Ul U & aR
franeat & 9 @t ey 41

"Her ttae g1 & wfafafe siafe summ § 3k 39 Rt 53 o & o & O fLiwand fedi g,
St ferett ot sriarferes Iu=ae A UTE STl 81 Sraieieh U | & gRkae for ST g, 98 §Ha 3R 'IH
& ffad & e ver g gehd § 3 veil & e A6 @ g § 3 99 998 @ AR & ary RegE gt
&1 B 3ifge ot 0 8t el &Y URuT T gl

AT AT # RIS TG 2hl [Ewqe 7T T AT Al 56 TRR T fohan 7 & o sfgd g Arae &
g1 &1 9 IUATY I I2T Aol & S Y U S o gl @1 8, gieiiich Sesd a1 ufehar &
AT GO | A Sl ol Gedl d U] &1 ol g1 fRIA07 fohal 7T &1 399 SfTe, STeRarey,
JEERATE! ST, 761 3R s &1 urgve off fzama man §1 3y Sft &1 e e avg SR e gl
R R qad e g1 280 U A0 fRiew # grfior Shtae et e man g

TG 9 a2} LT a8 & & sue e B afth T @, 3ifig w1 o g1 st € ha A @
TEd! 9N 914 Ig & foh Mg e & B9 W 7@ 39 3R 39 A G T A8 @ sifed &
rfeen v o A & iR ag v sqeT arefes & o g @t & al & seer-sreter, Sfa-Rarw, od-
ER, Tra-Rar @t g umiftiaal & gy e & 9 IufET @l g1

o7 @t HET T Sta w9 8 guR A g, e agt & |t o geitaren, te-gor, ig-dna,
$oai-2H, TAT-HEUT, T TGO A1 Bt G ITR-TGTd o |1 I TT 81 3T el Yk A Afehar
& ufd o o1 wra & at agf gudt oik Afderdr & forg seueree ot 81 w1y &) urenr AR awranet &
i agl-T-ael Sfta & ufd Tger s ot g

SubQuestion No : 17
Q.17 fu mu su=are # Afderar & forg st @ g fead 2a @2
Ans X A Hffq

X B.gmm

' C @euzieez 3k femm
X D.am
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Comprehension:

TR TEIST o T &1 TeieT 3 MR UR Ui s U Y €)1 el & enudes ug 7 Udd 0 & aR
ot 7 & @t faemen 741

et sifget f@=dl ot ufaff siaferes Sy & ik 34 arur 39d ey A urg: 3 9t RARtyand Ferd g,
Y ot oft srrarferes Iumrm # uig Tt &1 siafors Iuwamy A STt ufkas forar S €, @8 gw 3R @
& oftas & fSia uer g Gova &, 37 verl & iaw TeR 8 gahd &, 3 T9 39d @ faar & 9y faeme gt
&1 Her ffe off 08 € ehey &l aRoT T B

Aer sifger § 'BRFTS g 6 g a1 9wy HuT i g9 R TR foRn man & % ofd & e v
AT | 39 IURITH T 327 g chi TSN ol TehTISId ahet ol &1 I8T &, Bleiieh 3e2d 9T ufshar §
Yol §3HT &1 3G STarel chl el d Ul G ehl g1 RI=T07 fohat man &1 599 Sifdre, SheRarg),
SGRATE! TSI, 731 SR sreml &l urgus ot fezaran man g1 u] Sft A sifad avg ok ey gl
R OR FE ST &1 398 Uas A e § artor sfa o e man g1

Toh gad adt RLvar ag & & e A IS et 78 8, g W1 & gx1 e & 39 A0 2
Zgd v A 48 ¢ o Midaras & geyfi w @ 39 3umma | 39 sfaa & gy & siftes &
feren g ferar mar & ofR I8 wat ga-1 anefe § &6 ag agl & ol & gear-sirater, dfa-Rarer, od-
ER, Hia-faar @ @ uriftveRar & a1 gTad & T IUfeId o 8l

o) a1 e i Sita=t w9 A gaR an g, e a8t & di o g, ta-gon, gierd-dnaw,
5.3, GATAT-GRBI, T 9T N & QR IAR-TGTd & W1 IR 4T &1 3HH STl Uk 3R Aveman
& fd fover & g &, at a2 gudt ok Afdendr & forg seueree o 81 a1y &) ueem fayedt wmarsit &
e amgl-A-angl sita= & ufy mgdt s o &)

SubQuestion No : 18
Q.18 & ifad” Iu=aTy # fohay 1 <Y ferga au ww sy &t uega faman man @7
Ans X A =@
X B gfviar
X C. |rdaien
& 0. &

Question ID : 1034357685

Comprehension:

Taeh eI o T &1 Terier & YR UR uie uH fGU g 8 e it edes e a1 Ulddh UM & 9R
ferenedt # & @t feed 94

B tfae g1 & wfafafe siafoe summ § 3k 39 &Rt 5ud o & o & O LA fedi g,
St ferett ot srierferes Iu=mg A uTE STdt 81 s S | 51 gRaer foa ST g, 98 §Hg 3R '
& ofta & e uer 8 gahd § 3 veil & e Ae2 @ ged € 3 g9 398 @ AR & @y Redm gt
&1 B 3ifae ot U 8t e &Y URuT T gl

AT AT # RIS TG 2Rl TG T TR AT Al 58 TRR T fohan 7T & o sfgd g e &
g1 &1 9 IUATY I I2T Aol &) TS Y HerTfAId e o1 &l 281 &, gieiiich Seed Lo ufehar &
Tl BT & | 3TH STTe &l ezl d FEUAT &A1 ol Tg1 R0 foha man 81 e Shifare, SRy,
SERAT! AT, 78t 3R amsmi &1 urgve ot fzaman man &1 0y Sft & Aan s avg S e gl
TR UR qaY 3 81 398 Uk AU e § urftor Shae it feamar man g

g6 gag T fALwar a8 & & s Tre i afth T ¢, sfig 1 &1 g stae @ g9e A g
U U@ 914 Ug ¢ foh Mg e & B9 W 7 39 3R H 39 g G i s o sfed &
rfeen v fera mran & afi ag v s e & o g @t & Al & seer-serer, Hfa-Rare, od-
eR, dre-far @ gt grftaar & a1y urad & g Iufed @=ar g

07 @ T T Sfta w9 H gAR ane 8, S agt & A o g, te-gor, 9g-anay,
$oaf-2H, TAT-HEUT, T QTG ST ot QY ITR-TGTd o |1 IS 1T 81 30 STgl Uah 31X Afedn
& ufd e o1 wia &, at gl gadt oik Afderar & forg seueree ot 81 wry &) uren Rt awyanet &
a1 wg-A-ahel Sfta o wf gt s oft g

SubQuestion No : 19
Q.19 Tg Ju=aTH FoFe qu iy o zar mar 7
Ans o A MRS
X B.g@==a
X C 3w
X D.fagr
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Comprehension:

Tk TEIIST o T &1 TeieT 3 MR UR i U T Y &1 eI & e ug a7 Udid 0 & 9R
ferenedt & Wt faehea 1

Bt sffaer gt o ufafafe sriaferes Sumimy § iR g3 wRuT 39 @y # ur: 3 gt fALiward fercht &,
St femedt oft ariarferes Sumame & uré st &1 sirafern Iuwgma | i aRas o S &, ag awg ok =
& ofta & fSra uer g Gopa &, 37 erl & Siaa TeR 8 Fond &, 3 99 Sud @@ favar & |y faeme gid
&1 B aifae oft 0F & e Y URoT T g1

Aerr sifaret H BT g 6 A quT T FUT R ST YRR U foat man § & sfad g 9w 91
AT 1 39 IUITH T 387 e chi THTTSN bl TehTISId et ol &1 I8T &, Beiich 3o T ufehar
el §HT &1 597 Sfarel ol Grexdl @ ey g1 &t Mgt fRror foman wan €1 g9 shfaare, srmeRae,
SGRATE! TSI, 731 3R srsml o1 ur@us o fezarn man g1 0] St A sifad avg iR ey gl
TR R GaY 3T 1 398 Yk Ay fRreq # gty Sftae ot feamar mar g

Tah gad adt L ag & o e A aig et 78 8, g W & g1 e & g9 A9 8
Zgd v AT 4 ¢ O idaras & geyfi w @ 39 o= A 39 sfaa & T e & siftes @
feres T fehan T & iR g wai ga=T anfas & foh ag 9t & ol i gw-simeiar, dfa-Rarar, ud-
RAER, Hra-AaR &l G AforedT & 1Y UTae o 9F- JUfEId el &1

oy a1 et i sftaw wu A gaR an @, g agt & di o gt da-gun, gigrd-dna,
513N, YA, T 29T N A R JAR-TGTd & W1 IR 741 &1 34 STl Uk 3R A
& ufd foveer & g &, at a2 gt 3k Afdendr & forg seueree off 81 @y &) urem fAvedt mrwansdt &
i gl-A-argl sta & ufd medt o ot &

SubQuestion No : 20
Q.20 "“geaf” sreg a1 Gt fa=iwor aar ghm?

Ans o A 3G
X B 2@
X C. e

X D.gdm

Question ID : 1034357682

Q.1 99 R deg-Iq@ AR Sfa= i oif@afaat iz fRfaat & sgga &2
Ans 7 A dfgHE @agR

X B. 9 ZIER

X C. 98 ZaER

X D. e agegr
Question ID : 1034357693

Q.2 Inwhich form of the government, does the ruler has the power to make decisions
and run the government?

Ans X A.Democracy
/X B.Oligarchy
X C. Military Coup

v U Monarchy

Question ID : 1034357704
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Q3 .. is realization that one’s existence and functioning are separate from those
of other people and things.

Ans o A Self-awarenes
X B. Self-motivation
X C. Self-conscious emotions

X D. Self-evaluation emotions
Question ID : 1034357697

Q.4 Inthe context of Discipline, which of the following statement is correct?
I. Power assertion is the disciplinary strategy designed to discourage undesirable
behavior through physical or verbal enforcement of parental control.
Il. Inductive technique is the disciplinary techniques designed to induce desirable
behavior by appealing to a child’s sense of reason and fairness.

Ans X A Onlyll

 B.Both land Il
< C. Neither I nor Il

X D.Onlyl
Question D : 1034357702

Q.5 Which of the following statement describes Artistic Development?
I. It reflects maturation of the brain as well as of the muscles.
Il. The switch from abstract form and design to depicting real objects marks a
fundamental change in the purpose of children’s drawing.

Ans X A Only|
X B. Neither I nor ||
X C.Only Il

o D.Both landl

Question ID : 1034357695

Q.6 urfRerfye d¥amn & e &, Fafaf@a d @ st a1 sy g8 &2
|. G ZARTGT H, 51 & aret Hral-firar iR swen Avar-foar ga-gE f ugana g s &1
1. ge aTar-foar ufkans e ar srema, sifanfge foge a1 geg & ufvorrasasy giar &1

Ans X A Fad
X B AE A
X C.|aurll et
o D. & |l

Question ID : 1034357703
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Q.7 T ® geraTATfore faera & deof ) uger amre sraTeEty T 82
|. ag maramaTfSes ferra 7 ufvera &Y ad e g1
1. 39 sraeyt | g Ao srmreror & @1y &gl &1 dieT o Y 36T @t dfera awa § st 3%
R e Ak Al 8 |

Ans o A1 AT gl
X B.ade |l
X C.Argagil

X D.dad|

Q8 _______ AT faenTa a1 oreaa g St siftm & gfard) aifyd & wefda g
Ans ¢ A ZEERATE JUNTH

X B. Gz 3unr

X C. &« 3unmy

X D. fogrst 3unmy

Q.9 iz i guwn & dg A, vgfifaw aar &2
|. 9 gy I3 3R T Y ferar
1. st & ar foraR ® amR-am 9ana e

Ans X A FIEATEN
X B.laurllgHt
o C.&a |
X D.aaa |

___________ refers to foreigners who come to a country specifically for medical
treatment at hospitals that offer world-class facilities at a lower cost.

Ans X A Medical Guests
X B. Medica! Guides
X C. Medical Officers

Q.11 iz &Y mzad iz e & =i d Prafaf@a & @ a7 od @7
|. g 9 & 9wy @1 9ud g1
1. iz & gRr= =T SR & aher g faeRTR &1 Ig1ER0T §1

Ans X A Faqd
X B 3 |l
o C. | aurll e
X D a@arg

Question ID : 1034357700

Question [D : 1034357692
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Q.12 Inthe context of Nutrition, which of the following pair is correctly matched?
I. Malnutrition - It results from an inherited tendency, aggravated by too little
exercise and too much, or the wrong kind of food.

I1. Obesity - Under nourished children live in poverty and suffer other kinds of
environmental deprivation.

Ans ¥ A Neither | nor
X B.Only!|
X C.Bothland Il

< D.Onlyll

Question ID : 1034357696

Q.13 Qa F vl & weH 7, Frrafaf@a & & wta wr gm v an @ gafea @2
I. wraferes @< - da fomm garad aiadsia ofy enfae @
I1. ATeeF @ - @ o™ o a9 & forg awgatt a1 amafial & suat anfae @

Ans X A Fadll
o B. &dd
X C.laur et
X DAglargll

Question ID : 1034357701

Q.14 Which of the following defined as a person’s characteristic, biologically based way of
approaching and reacting to people and situations?

Ans X A Adjustment

X B.Replacement

« C. Temperament
X D. Excitement

Question ID : 1034357698

are preconceived generalization about male or female role behavior.

Ans X A Gender-Typing
X B. Gender-Constancy

v/’ Gender Stereaty
X D. Gender-Identity

Question ID : 1034357699

Q.16 Inthe context of physical and mental health, what is eating disorder?
|. Anorexia nervosa and bulimia nervosa are eating disorders that involve abnormal
patterns of food intake.
I1. Bulimia nervosa is characterized by self-starvation.

Ans X A Bothlandll
< B.Only Il
X C. Neither I nor Il

o |

Question ID : 1034357691
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Q.17 Inthe context of childhood medical problems, which of the following statement is
correct?
|. Acute medical conditions - Occasional and short-term conditions, such as
infections, allergies and warts.
Il. Chronic medical conditions - Physical, developmental, behavioral and emotional
conditions requiring special health services

Ans X A Onlyll
< B. Neither | nor Il
& C.Bath land Il
X D Only!l

______ is the newborn baby, up to 4 week's old.
I. Infant
Il. Neonate

Ans X A. Neither | nor |l
X B.Only|
< C.Bothland Il

« D.0nly |

______ is the process of uterine, cervical and other changes that brings on labour.

I. Operation
Il. Parturition

Ans X A. Neither [ nor |l
o B COnlylil
X C. Bothland Il

25 D.Only!l

Q.20 What is Brazelton Neonatal Behavioural Assessment Scale (NBAS)?
Ans X A Itis usedto specify the acidity or basicity of an aqueous solution

/< B. tdescribe power and intensity of scund waves

X C. Standard measurement of a newborn’s condition, it assesses pulse, activity and
respiration
o D. Neurological and behavioral test to measure neonate's responses to the

environment

GET IT ON
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Q.1 Which of the following characteristics of project method of education is correct?

I. Learning takes place naturally.
Il. The success of this method lies in the students understanding of its objectives.

Ans ¢ A Bothlandll
X B.Onlyl
X C. Neither I nor Il
X D.Only!

Question ID : 1034357717

Q.2 What are the challenges for educating children with disabilities in regular classroom?
I. Negative attitudes of teachers and community
Il. Non-disabled peers and their parents

Ans ¢ A Both land |l
X B.Only|

2 C. Neither | nor Il

X D.Onlyll

Question ID : 1034357713

Q.3 Inwhich of the following learning approaches, textbook is considered as the main

source of learning?
I. Subject - Centered Approach
Il. Learner - Centered Approach

Ans X A Cnlyll
X B.Bothland Il

2< C. Neither I nor Il
o D. Only

Question ID : 1034357716

Q.4 Tryingto listen from a closer distance may be the symptom of which impairment?
I.Visual impairment
Il. Hearing impairment

Ans X A. Neither | nor ||
< B.Bothland Il
X C.QOnly|

& D. Only

Question ID : 1034357711

Q.5 e # dexie o IughT qEg & R 3geat & forg fomarn s weRar 82

I. g
1. afErarg
111, grrfSrerar

Ans X A ldurlll
/X B.laurlll
 C.I llauril
X D.&had |

Question ID : 1034357723
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Q.6 forg adf, Aurer I Y 2rfeRal ot TETE &R | O g UT?
Ans X A 2005

v B. 2006
X C.2007
X D. 2004

Question ID : 1034357706

Q.7 Which of the following types of groups can be formed in multi-grade situation?
I. Grade - based grouping
11. Ability - based grouping

Ans ¢ A Bothlandl
X B.Onlyl
< C.Only|
/X D. Neither I nor Il

Question ID : 1034357718

Q.8 Inthecontext of Inclusion Education in India, which of the following statement is

correct?
I. The ministry of external affairs implemented a national action plan for Integrated

Education for Disabled Children.
Il. In 2009-10, Integrated Education for Disabled Children was revised and named as
‘Inclusive Education of the Disabled at the Secondary Stage'.

Ans ¢ A.Onlyll
X B.Bothland Il

X C. Neither I nor |l

X D.Only|

Question ID: 1034357714

Q.9 Which of the following is the important aspect of universalisation of elementary
education?
I. Access
Il. Enrolment
I1l. Retention of all children in 6 to 14 years of age

Ans X A landll

X B.landlll
v and Il
X D.lland i

Question ID : 1034357712
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Q.10 The tools of Information and Communication Technology may be in the form of

I1. visual
Ans o A Bothland Il
/< B.Only i
X C. Neither I nor |l

/< D.Only |

Qi1 _____ IR A forar a1 agR Y Fhe a1 gAEAIET B gl
|. eTeeTat
I1. SrgehvoT

Ans X A A& IATE

o B &ad |
X C. &aa
X D. |13t gt

Q.12 fveres it Affres wwTar ot FF Ferar & wfge?
|. 3¢ 994 ®9 § 3= 3reror Y fFrr st anfge
11. 32 3rg=it et & Iugt & Afives gerara @ a==n =fgul
1. 32 Shaet weferal & forg gwis &d @i H ugfar @ s arfgu

Ans X A lgurll
(/ B IR IR
X Claurlil

X D. Il @l

Q.13 Which of the following assumptions are reflected by folk pedagogy about the
children?
I. Egocentric and in need of socialization
Il. Empty vessels to be filled with knowledge that only adults can provide

Ans o A Bothlandll
/< B.Only
X C.Onlyl
/< D. Neither I nor Il

Q.14 In which year, Rabindranath Tagore founded Santiniketan?
Ans X A 1905

X B.1907
X C.1899

\:)y N a0
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Q.15 Who introduced IDEAL model as a problem solving model for teaching and learning?
Ans X A Jean Piaget

X B. Paulo Freire

‘/ L. Branstord

X D. John Locke

Question ID : 1034357719

Q.16 Hundreds of Indian language newspapers were used by many Indian political or social
figure to disseminate nationalist and reformist ideas among the people during the
19th century. Which of the following pairs of ‘Newspaper - Its Language’ is NOT
correct?

I. Amrit Bazaar- Bengali
Il. Sudharak - Punjabi
I1l. Koh -1 - Noor- Hindi

Ans ¢ Alland|
X B.Only|
X C.landlll

X D.landll

Question ID : 1034357707

Q.17 Which of the following statements is correct about Costa Rican approach towards
healthcare?
I. It decided to spend its money on health education instead of on army
Il. The government of Costa Rica provides basic amenities to its people.

Ans X A.Onlyl
/X B.Only|
X C. Neither I nor Il

 D.Bothiandll

Question ID : 1034357708

Q18 ________ THTAT 3R TGS UROTTd A1 &1 Teh e gl
Ans X A gaE

X B 3=

X C.mR

o D. Tl

Question ID : 1034357709

Q.19 Which of the following are the effects of imitation?
|. Modelling
I1. Inhibitory dis-inhibitory
111. Eliciting

Ans X A landlll

& B. I lland|
X C.Onlyl
X D.lland lll

Question ID : 1034357725
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Q.20 Which of the following is in the correct sequence in the context of the computer?
Ans X A Input, Programme, Storage, Output

«” B. Input, Programme, Output, Storage
X C.Programme, Qutput, Storage, Input

/X D. Output, Storage, Programme, Input

Question ID : 1034357722

Q.1 Inenvironmental studies class, a teacher was using ‘pair - share’ technique of
cooperative learning. What are the steps to implement this technique?
I. Don't pair up with another child
1. Individual student responds to teacher's query

Ans X A.Onlyl
X B.Bothland Il

X C. Neither I nor Il

o D.Only Il
Question ID : 1034357740

Q.2 Onthe basis of length of sides, which of the following is not a type of triangle?
Ans X A Equilateral triangle

+” B. Obtuse angled triangle
X C.lIsosceles triangle

/X D. Scalene triangle

Question ID : 1034357735

Q.3 fr=faf@ad @ o= a1 &y gar &fve sftaa & A= 6 sraanzon @1 ufaffde 78 e 82
|. SIS =1 & forg o Y emasas warg
1. &f¥er areiR @ @A & feorw srasae afssral ar R & qrara & wr

Ans X A |durl g+t
X B.&ad |l
 C.T8 el
X D. dhdd |

Question ID : 1034357736

Q.4 =t & gedi A efaf@ad detaar sy ad &2
I. f@dh, fEd) <t e atforat | wanfea =t &1
1. @t areft 2= e ag wu & e suatn anfga fora & forg famar Smar
111, Frrét f§&Y &t areren @& wrem van 1

Ans X A &ad il
o B. Fad
X C.i gt
X D laAti

Question ID : 1034357734
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Q.5 Pr=afafead @ o= ot vafawor g & area 78 82

Ans X A g gl o Gra 3R IUA @ & T @ Ao aE & R 3 S ard Agagef gyl &
Y& 3

o B margzor sfdmm & At geat & o uaiaRor @ A8 o 13 8
X C. gafazu sifermy 1 aryft &t fawgd w0 4 aafeg e sran g

X D. gafazor sfetems a<at &1 sifvaafth & g qomse vem & ¢ - fifees ok fea ok o
TgTce Hfveafhal anfe

Question ID : 1034357742

Q.6 Which of the following statement is correct regarding an educational activity in
environmental studies?
I. It should be safe for the students

1. It should be real life based and enjoyable for the students
I1I. It should involve all students

Ans X A landll
/< B.Only |l
 Cllland|
2< D. Only Il

Question ID : 1034357741

Q.7 Tgard Aform & g A fr=afaf@a d @ s ar sy ag &2
. ag siform g fafre @€t wg surm & frad ueaifae ufrar, aafma saraddl, @ama
HaER 3R Argfga widives fAfga &1
1. gt freror Aiset &Y & @ A i Agaygel fREanaTe deat ot e & & forg farefaa
faman mar um: Rerfre Susfed, fafdear Fit Wil otz amrfers st ffwm)

Ans X A |yt gEt
X B.&Fad |
X Coagiad

Question D : 1034357727

Q.8 Theterm ‘mother tongue' usually refers to the language spoken at
Ans X A Company

X B. University
X C.Seminar

vy D. Home

Question ID : 1034357732

Q.9 Which of the following figures can be drawn using ruler and compass?
I. Perpendicular bisector of a given line segment
Il. Angle of measure 60 degrees, its multiples and submultiples

Ans X A QOnlyl

X B. Neither | nor |l

 C.Both land I
2 D.Only lI

Question ID : 1034357737
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Q.10 Inthe context of Phonics, which of the following statement is correct?
I. This is used to teach children the names of the letters.
II. This is used to teach children the sounds of the letters.

Ans X A Bothlandll
X B.Only|
X C. Neither [ nor |l

v D. Only

Question ID : 1034357730

Q.11 fr=faf@a d @ &a dft wrar feadt-af= ufvark @ @&@fda @2
. @tEt
I1. fart

Ans X A FIEIATE
X B. et Il
X C.&ad

s B

D

Question ID : 1034357731

Q.12 fore oy OE & =t au ofR dheua & AT SR IaT Gehd &2
Ans A 8104

X B sa7ad

X C1d3qgd

X D.3@5ad

Question ID : 1034357729

Q.13 Inthe context of History Subject, which of the following statement is correct?

I. It is interdisciplinary in nature
Il. It is different and separate from other subjects with similar field of study

Ans & A Only
/X B. Neither I nor Il
/< C.Only Il
/< D Bothlandll

Question ID : 1034357745

Q.14 grut &t theree ard g1y Y Inferal & fim R @ a1d gra 6 Inferat & o AR ae fr g
______ hgerTa gl

Question ID : 1034357738
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Q.15 Which of the following features are involved in problem solving method?
I. Agoalto be reached.
Il. Afelt difficulty/need to reach the goal.
I1l. Reaching the goal or arriving at satisfactory solution to the problem at hand.

Ans X A landll
\’/ B Iland |
X C.land Il

X D.liand Il

Question ID : 1034357726

______ damage causes problems in speech comprehension.
Ans X A Broca's area

< B.Poma's area

/ ,V -.“v"f"“" Kes area
X D Nava's area

Question ID: 1034357728

Q.17 In which year Tamil language was declared as a classical language?
Ans X A 2005

X B.2002
X C.2003
o 0.2004

Question ID : 1034357733

Q.18 Which of the following subject is NOT include under the Social Science subjects?
Ans X A Geography

/< B. Economics
« C.Mathematigs
X D. History

Question ID : 1034357743

Q.19 adgr= amafoe aae ok ufvaeaiel & e A, fafaf@ad dataar sy agt @2
|. ag famma ok WenfiehY & asft @ faera o snurfed ver et @ ggdt guTs 21
1. Sftam & e et & wifewran, Rfaar adarm gars & fastaar g

Ans X A Fad

o B. I @t &
X carg g

X D. dad |l
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Q.20 Which of the following statement is correct regarding ‘collection of data'?
I. ‘Runs scored by Tendulkar in different innings of a Test series are 16, 56, 25, 8, 3,
33,23 and 107." This given statement represents Raw Data.
Il. ‘The students of class V are preparing for a picnic. The class teacher asked them
to give their choice of fruits out of apple, Orange, Banana or Guava and then she
notedit. The data collected in this statement is collected from secondary source.

Ans X A Bothlandll

« B.Only
X C. Neither | nor Il

/A D.Onlyll

Question ID : 1034357739

Q.1 What are the advantages of salabhasana?
I. It improves digestion
I1. It cures tumor
I1l. It cures the diseases of lungs

Ans g/
X B.lland Il
X C.Onlyll

/< D.Only |

and |

Question ID : 1034357763

Q.2 Withrespect to Hand washing facility, which of the following provisions are needed
to be made in the school?
|. Proper and continuous supply of water
II. Child friendly wash basins at maximum possible height

Ans 7 A Only
X B. Neither [ nor Il
X C.Onlyl

X D.Both!andll

Question ID : 1034357761

Q.3 Theidentity content among adolescents is considered to fall into two major
domains. The interpersonal domain consists of which of the following?

Ans X A. Choices related to politics
/X B. Choice related to religion
X C. Choices regarding career

o 0. Choices regarding family

Question ID : 1034357754
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Q.4 Tt vyt & Hisgg uiw wgnEl & g F F=fefaa d @ s o datea ad &2
|. SATERTST - Fear
II. ary - wasf
1. g2t - sréros

Ans 7 AL 11U

X B.lgurlll
X C.lagrl

X D.&adll
Question ID : 1034357752

Q.5 ford uerR U et amdiRes @y wrdsry @ a=f @) aiftnm & weg et afge?
|. @ WS 3R G Y smed
I1. 3o 2R it ST (gfeim, TwTs &en)
1. 3= A Y wraaTeres ufafraran @ sara &d &
Ans X A daalll
¢ B.aari
X C.I, (@t il

X Dl et
Question ID : 1034357765

Q.6 According to Maccoby, female-female interactions typically focus on
I. The building of interpersonal connections
Il. The development of individual status

Ans X A Bothlandll

X B. Neither I nor |l

Y 4 nly
X D.Only Nl

Question ID : 1034357758

Q.7 gl ok A=feral & forg sredt o 3 @ ufueaan & wana fafvs gta &1 STedt uftuea g arat
@t & Prefaf@a § @ et ot Ridtwar adt 781 &2

Ans X A 3ifies wrEe SR Forgd
X B gg-ursugsy nfafafda § s smr =i
o C. 3aiear ik Rafzar & \a=n g

X D. dgr gaf<aa
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Q.8 The study of human cognition has been approached mainly from three different
perspectives, whichare ______
I. the psychometric approach
1. the development approach
11l the information processing approach

Ans X A Only|

V R
X C.land |l

Iland |

X D.landlll

Question ID : 1034357756

Q.9 Which of the following statement is correct in the context of Arts in India?
I. Bhimbetka cave painting is the example of modern age.
II. Indus valley culture art is the example of Proto history.
I1l. Seals provide the trade information of the Indus Valley Civilization.

Ans X A.Onlylll
X B .l lland Il
X C.landll

 D.lland

Question ID : 1034357748

Q.10 Table tennis game was invented in which country?
Ans ¢ A England

X B. South Africa

X C. Australia

X D India

Question ID : 1034357751

Q.11 Which of the following factors influence the health?
I. Income and social status
Il. Physical environments
Il. Health care services

Ans Al lland|
/X B.Only|
X C.Only Il
X D.lland Il

Question ID : 1034357764

Q.12 The shape of the posture of which asanaresembles a plough?
Ans X A.Dhanurasana

X B.Salabhasana

o L halasana

X D.Savasana

Question ID : 1034357760



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Q.13 fa=faf@a d @ o= offeen @ ffea awaf & neg o gaar &2
Ans X A &I dhell

o B fiFasd
X C.ufg el

Question ID : 1034357746

Q.14 U gydfeas iz & smats & forg g @t &t fof Suaort Y smrazaaan gidt 82
|. forre adt
1. fopfafair e
1. fRa atd
IV. @R ofte

Ans & AL 1L 11T FT
X B. &« lll
XCCL T v

X D liguriv
Question ID : 1034357762

Q.15 Alarge number of emotions and heightened emotionality in adolescence has been
reported by Larson and Richards. Which of the following feelings are demonstrated
by adolescents?

I. Feelings of cheerfulness.
Il. Ignored and nervous.
11l. Unsure about certain things.

Ans X A lland Il

X B Onlyl
/X C.Only|
v D and |l

Question ID : 1034357755

Q.16 Piaget makes two claims about thinking in the period after concrete operations.
Which of the following claims is NOT correct?
I. Developmental changes continue through early adolescence.
Il. Formal operational thinking is the final stage of development.

Ans X A Onlyl
X B.Bothlandll
J C Neither
X D.Onlyll
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Q.19 Who was the first artist to document a child in a womb?
Ans X A Claude Monet

X B. Frida Kahlo

J Leonardo Da Vinci
X D. Pablo Picasso

Question ID : 1034357747

Q.20 In cricket, generally a test match is played for ______ .
Ans & A Sday

X B.Sdays

/X C.8days

X D.2days

Question ID : 1034357749

Q.1 Which of the following is a teaching learning method related to work education?
|. Observation method
Il. Demonstration method

Ans & A Bothlandll
X B.Only Il
X C. Neither I nor Il

X D.Only|
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Q.3 Manyaspects of the development of the personality can be observed by ______ ;

Ans X A cumulative record
«” B.observation
/< C. guestionnaire

X D. project work

Question ID : 1034357768

Q.4 Interviewis the tooland technique of __
Ans X A materialization

o B assessment
X C.evaluation

X D. observation

Question ID : 1034357769
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Q.6 Which of the following programme is launched by NCERT?
I. Special orientation program for primary Teacher (SOPT)
Il. District primary education programme (DPEP)
11l. Sarva Shiksha Abhiyan (SSA)

Ans X A Onlyli

X B.landlll
v nly
X D. | lland (Il
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Q.8 There has been a tradition in Indian society that community contributes voluntarily
for good social cause. Which of the following is one of them?
I. Free labour to construct buildings
Il. Contribution in material form

Ans X A.Onlyl
X B.Only!
o C.Both land Il

X D. Neither I nor |l

Question ID : 1034357782
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Question ID : 1034357775

Q.10 SSA has been made the vehicle for the implementation of the RTE Act based on the
Committee Report.

Ans ¢ A Anil Bordia
X B. Ajit Kumar
X C. Athreya
X D.A.C.Shah

Question ID : 1034357778

Q.11 Right to Education Act (2009) has become operational since ______ ;
Ans X A.2011

X B.2009
X C.2012
¢ D.2010

Question 1D : 1034357781
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Q.14 The schools can perform better if there is close linkage between the schooland
community. Which of the following can be used to established this?
I. Parents and schools to communicate regularly and clearly
Il. Teachers guiding and advising parents

Ans X A Neither Inorll
X B.Only|
 C.Bothlandll
X D Onlyl

Question ID : 1034357785

Q.15 In which year the Indian National Congress forwarded the need of National
education for children?

Ans X A 1905
X B.1908
X C.1907

IR
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Q.16 Which of the following statement is correct regarding discipline?
I. For political and industrial reasons, discipline has become an important factor in

the present social structure.
Il. One of the dangers of discipline is that the system becomes more important

than the human beings who are enclosed in it.
Ans X A. Neither I norll

/ B. Both land Il
X C.Qnly!
/< D.Onlyll
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Ans o A 81T 3T (1964-66)

X B g ggy @fmfd (1872)

X C. mrerfaes ferm smat (1852-53)

X D. ey m= wty Aifd (1986)

Q.20 Which of the following pair is correctly matched in the context of techniques of
evaluation?

Ans X A Cumulative Record : Governmental Data
v iterview . Knowing the behaviout
X C.Questionnaire : Scholars Thesis

X D. Observation : Finding new discoveries
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